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1) —9+(=3)=—(9+3)
=—12

3) (Ba+8)+(2a—5)=3a+8+2a—5
=(3+4+2)a+(8—5)
=ba +3

(5) 2z %x(—=5)=—10z

7 (+10)+(—5)+(—15)=10—-5—15
=—10

9) (—12)x(—13)=+(12x13)

=156

x+3 %8 (x+3)X8

= — 4

=(x+3)X2

=2x+6

(13) 9+12><(—16):9><1—12><(—16)

1
_—<9xﬁx16>
=—12
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(15) §(2x+4)+§(3x+6):x+2+x+2

=2x+4

(17) 5z+1=-9
bx=—9-—1
be =—10

r=-—2

(19) 0.3z +0.7=4 W30 10 Z2 237 T

0.3z +0.7)x10=4x 10

3x+7=40
3r=33
rz=11

2) (—=5)—(+12)=(—5)+(—12)
=—17
4) (dx+2)—(2x—6)=4x+2—2x+6
=4—2)x+(2+6)
=2r+8
6) —40a -8 = —ba
8) (—=54)+(+6)=—(54=6)

=9
1 1
(10) 3(60 +4)—§(9a—12):3a +2—3a+4
_6
(12) (182 —6)=3 — 18"3_6
_ 18 [ 6
=73 +< 3)
=6a —2

(14) 5+2°+(—4)=5+8+(—4)

(18) 3(x+4)=2x+9
3r+12=2x+9

3x—2x=9—-12
r=—3
@) tr=tzt2 15 AT
%xXlSz(%x—i—Z)XlS
b5x =3z + 30
S5 —3x =230
22 =230
x=15
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